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Hits

Alpha (cm)

2000

=1 mm,N . 10000, a= 0.1, «:2538=2.65
=1 mm,N . 10000, a=02, «:2954=332
=1 mm,N . 10000, a= 0.3, «: 2662248
=1lmm,N . 10000, a= 04, «:2148=1.52
=1lmm,N . 10000, a= 0.5, «: 1941=1.22
=1lmm,N . 10000, a= 0.6, «: I881=1.12
=1mm,N . 10000, a= 0.7, «: 1747098

1800
1600
1400
1200
1000

=1 mm,N . 10000, a= 08, «: 15.67=0.85
=1 mm,N . = 10000, a=09, «: 16.11=0.86
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Hits

Alpha (cm)

2000

=3mm,N . 10000, a= 0.1, «: 28.68=3.29
=3mm,N . 10000, a= 0.2, «:32.043.74

1800
1600
1400
1200
1000

=3mm,N . = 0000, a=0.3, «:2486=229
=3mm,N . 10000, a= 04, «:21.65=1.50
=3mm,N . = 10000, a= 0.5, «:17.08=0.99
=3mm,N . 10000,a= 0.6, «:18.96=1.16
=3mm,N . = 10000, a=0.7, «: 1621086
=3mm, N . 10000, a= 08, «: 1635086
=3mm,N . = 10000, a=09, «: 15.00=0.74
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Hits

Alpha (cm)

2000

=5mm.N_t=IU()U()‘a=Ul @ 2364216
:5mm.N7:IU()U()43:U.2, 25222243

1800
1600
1400
1200
1000

=5mm.Ny=IU()U().a=US, w:21.34=1.59
=5mm, N . 10000, a=04, «: 1931125
=5mm, N . = 10000, a= 0.5, «: 1684=091
=5mm, N - 10000, a= 0.6, «: 16.03=0.82
=5mm,N . = 10000, a=0.7, «: 1581=0.80

"= ” = o= " o= - b

=5mm, N . 10000, a= 08, «: 1515080
=5mm, N . 10000, a= 09, «: 13.73=0.65
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Hits

Alpha (cm)

2000

=7mm,N . 10000, a= 0.1, «:2684=29]
=7mm, N . 10000, a=02, «:2486=224

1800
1600
1400
1200
1000

=7 mm, N . = 0000, a=0.3, «:2234=1.85
=7 mm,N . 10000, a= 04, «:2060=1.38
=7 mm,N . = 10000, a=0.5, « 17.79=z1.08
=7mm,N . 10000, a= 0.6, «:16.37=0.86
=7mm,N . 10000, a= 0.7, «: 15.10=0.75
=7mm, N . 10000, a= 0.8, «: 14.01=0.63
=7mm,N . 10000, a= 0.9, «: 15.08=0.75
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Hits

Alpha (cm)

2000

=9 mm,N . 10000, a= 0.1, «:24.00=23]
=Y mm, N . 10000, a= 0.2, «:20.54=1.69

1800
1600
1400
1200
1000

=Y mm, N . = [0000,a=03, «:20.16=1.49
=Y mm, N . 10000, a=04, «: 1781109
=9 mm, N . = 0000, a=0.5, «:1542=082
=Y mm, N . 10000, a= 0.6, «:1540=0.77
=9 mm, N . = 10000, a=0.7, «: 1440=0.70
=9 mm, N . 10000, a= 08, «: 14.07 =0.66
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Hits

Alpha (cm)

2000

=11 mm,N = 10000, a= 0.1, «:26.03=2.59
=11 mm,N .= 10000, a= 0.2, «:2267=1.98

1800
1600
1400
1200
1000

=11 mm,N - 10000, a= 0.3, «: 2033145
=11 mm,N . 10000, a= 04, «: 1694099
=11 mm,N . = 10000, a= 0.5, «: 1588086
=11 mm,N . 10000, a= 0.6, «:15.69=0.75
=11 mm,N . = 10000, a= 0.7, o 14.18=0.64
=11 mm,N . = 10000, a= 08, «:1332=057
=11 mm,N .= 10000, a= 09, «: 13.60=0.59
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Hits

Alpha (cm)

2000

=13 mm, N = 10000, a= 0.1, «:21.40=1.90
=13 mm, N .= 10000, a= 0.2, «:23.0=193

1800
1600
1400
1200
1000

=13mm, N . 10000, a= 0.3, «: 18.69=1.20
=13 mm, N . 10000, a= 04, «: 17.08=z0.96

=13 mm, N . 10000, a= 0.6, «: 14.60=0.71

1
|
|
|
=13 mm, N . 10000, a= 0.5, «: 1480=0.74
|
=13mm, N . 10000, a= 0.7, «:15.24=0.73

1

1

"= ” = o= " o= - b

=13 mm, N = 10000, a= 0.8, «: 14.57=0.64
=13 mm, N .= 10000, a= 09, «: 1346 =0.58
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Hits

Alpha (cm)

2000
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1600
1400
1200

=15mm, N

. 10000, a= 0.1,

=15mm, N . 10000, a= 0.2,
=15mm, N . 10000, a= 0.3,
=15mm, N . 10000, a= 0.4,
=15mm, N . 10000, a = 0.5,
=I5mm N =

. 10000, a = 0.6,

=15mm, N . 10000, a= 0.7,
=15mm, N . 10000, a = 0.8,

@: 2374213
@:22.051.87
@« 1689 =1.03
@ 1872118
@: 1530078
@ 1386 =0.63
@ 13.70=0.62
: 1370 =058
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Attenuation Length (cm)

50

45
40
35
30

f(x)=a g(x)=b +cx

a=243+08 b=265%t1.9

v*/v =0.81 c=-02%02
v*/v =10.65
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20
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|- I 11 1
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Thickness (mm)
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Attenuation Length (cm)

[U—
-
IIII||I|I|IIII|IIII|I|I

G, 0.2

|- I 11 1

f(x)=a g(x)=b +cx

a=235+08 b=282120
c=-0.5%£0.2
v’/v=1.14

Y*/v =1.90

| I I — I |
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| | I 1 1 I 1 1 I 1
6 8 10 12 14 1
Thickness (mm)
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Attenuation Length (cm)

IIII|IIII|IIII|IIIIJI|II| III|I|II|IIII|III||IIII

O, 0.3

f(x)=a g(x)=b +cx

a=199+05 b=259%14

v}/v=347 ¢=-0.6%0.1
v?/v =0.35
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Thickness (mm)
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Attenuation Length (cm)

I
)
I|I|II|IIII|I|II|IIII|III||IIII

[U—
-
IIII||I|I|IIII|III

Illlllllllllllll

o, 0.4 f(x)=a g(x)=b +cx
a=186*04 b=214=%1.0
v}/v=229 ¢=-03%0.1

v*/v =1.06
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Thickness (mm)
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Attenuation Length (cm)

(W)
-

452_ o, 0.5 f(x)=a g(x)=b +cx

403_ a=162+03 b=184%0.7
- x?/v=233 ¢=-0.2%0.1

355— x*/v=10.73
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20 " .
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10

5=

0: llIlIlIIllIllIlllllllllllllllll
0 2 4 6 8 10 12 14 16

Thickness (mm)



Attenuation Length (cm)

(W)
-

452_ o, 0.6 f(x)=a g(x)=b +cx
40:_ a=156x03 b=18.7%x0.7
- x’/v=391 ¢=-0.3%0.1
355— x%/v =0.62
30
25
204 4
15% ...........................
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0 2 4 6 8 10 12 14 16

Thickness (mm)



Attenuation Length (cm)

(W)
-

452_ o, 0.7 f(x)=a g(x)=b +cx
403_ a=150x03 b=169 0.6
- X*/v=232 ¢=-02%0.1
355— x2/v =0.69
305
25
20F
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0 2 4 6 8 10 12 14 16

Thickness (mm)



Attenuation Length (cm)

(W)
-
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W
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:

O, 0.8 f(x)=a

g(x) =b+cx

a=143%+02 b=157=%0.6
c=-0.2%0.1
v*/v =1.07

Y*/v =1.99
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Thickness (mm)
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Attenuation Length (cm)

(W)
-

452_ o, 0.9 f(x)=a g(x)=b +cx
403_ a=140x02 b=153%x05

- x?/v=192 ¢=-0.1%0.1
355— x*/v =1.01
30
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20
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